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Dim nm, g, cx, cy, cvx, cvy, dt, sm, meth, ddd, ccc, vx, vy, dismin As Double

Sub xy_data()

Select Case meth
Case 1
Fori=0To 3
If Option1(i).Value = True Then
cvx = -(g * sm / Option1(i).Caption / 150000000) * (1 / 2) - (-5.45125124684134)
cvy =0
cy = (Option1(i).Caption - 30) * 150000000
Exit For
End If
Next i
Case 2
Fori=0To 3
If Option1(i).Value = True Then
cvx = -(~(g * sm / Option1(i).Caption / 150000000) * (1 / 2) + (-5.45125124684134))
cvy =0
cy = (Option1(i).Caption - 30) * 150000000
Exit For
End If
Next i
End Select

Fori=0To4
If Option2(i).Value = True Then
cx = Option2(i).Caption * 150000000
Exit For
End If
Next i
End Sub

Private Sub Command1_Click()

dt = Val(Text1.Text)

Pic.Cls

Pic2.Cls

xy_data

Pic.FillColor = RGB(0, 0, 255)
Pic.Circle (0, 0), ddd, RGB(0, 0, 255)
Pic.FillColor = 0

Pic.Circle (cx / 1000, cy / 1000), ccc, O
Pic2.FillColor = RGB(0, 0, 255)
Pic2.Circle (0, 0), ddd, RGB(0, 0, 255)
Pic2.FillColor =0

Pic2.Circle (cx / 1000, cy / 1000), ccc, 0
Timer1.Enabled = True

dismin =5 * 150000000

End Sub

Private Sub Command2_Click()
Timer1.Enabled = False

End Sub

Private Sub Command3_Click()
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Cls

Form1.ForeColor = RGB(255, 0, 0)
Print Round((vx *2 + vy A 2) A (1/ 2), 5)
Form1.ForeColor = RGB(200, 100, 0)
Print (2* g * nm / dismin) * (1/2)

End Sub

Private Sub Form_Load()

Form1.Height = 9000

Form1.Width = 12000
Form1.AutoRedraw = True
Pic.AutoRedraw = True

Pic.Left = 3360

Pic.Top=0

Pic.Height = 8535

Pic.Width = 8535

Pic.BackColor = RGB(233, 233, 233)
Pic.FillStyle=0 '

Pic2.AutoRedraw = True

Pic2.Left=0

Pic2.Top =0

Pic2.Height = 8535

Pic2.Width = 8535

Pic2.BackColor = RGB(233, 233, 233)
Pic2.FillStyle=0 '

Pic.Scale (-2000000, 2000000)-(2000000, -2000000)
Pic2.Scale (-4500000, 1000000)-(4500000, -8000000)

sm = 2E+30

nm = 1.024E+26

g = 6.6732E-20

meth =1

xy_data

ddd = 24764 /2

ccc = 2000

Pic.FillColor = RGB(0, 0, 255)
Pic.Circle (0, 0), ddd, RGB(0, 0, 255)
Pic.FillColor = 0

Pic.Circle (cx / 1000, cy / 1000), ccc, O
Pic2.FillColor = RGB(0, 0, 255)
Pic2.Circle (0, 0), ddd, RGB(0, 0, 255)
Pic2.FillColor =0

Pic2.Circle (cx / 1000, cy / 1000), ccc, 0
dismin =5 * 150000000

End Sub

Private Sub Option10_Click()

' Pic2

Pic2.Cls

Pic2.Scale (-1900000, 1000000)-(100000, -1000000)
ddd = 27464 /3

ccc = 500

Pic2.FillColor = RGB(0, 0, 255)
Pic2.Circle (0, 0), ddd, RGB(0, 0, 255)
Pic2.FillColor =0

Pic2.Circle (cx / 1000, cy / 1000), ccc, 0
End Sub



Private Sub Option11_Click()

! Pic2

Pic2.Cls

Pic2.Scale (100000, 1000000)-(1900000, -1000000)
ddd = 27464 /3

ccc = 500

Pic2.FillColor = RGB(0, 0, 255)
Pic2.Circle (0, 0), ddd, RGB(0, 0, 255)
Pic2.FillColor =0

Pic2.Circle (cx / 1000, cy / 1000), ccc, 0
End Sub

Private Sub Option3_Click()
meth =1

End Sub

Private Sub Option4_Click()
meth = 2

End Sub

Private Sub Option7_Click()
Pic2.Visible = False

End Sub

Private Sub Option8_Click()
Pic2.Visible = True

End Sub

Private Sub Option9_Click()

! Pic2

Pic2.Cls

Pic2.Scale (-4500000, 1000000)-(4500000, -8000000)
ddd = 24764/ 2

ccc = 2000

Pic2.FillColor = RGB(0, 0, 255)
Pic2.Circle (0, 0), ddd, RGB(0, 0, 255)
Pic2.FillColor =0

Pic2.Circle (cx / 1000, cy / 1000), ccc, 0
End Sub

Private Sub Timer1_Timer()
Fori=1To 500
dis=(cx"2+cy”2)r(1/2)
If dis < dismin Then

dismin = dis

VX = CVX

vy = cvy
End If
acnx=-g*nm*cx/(cx*2+cyr2)*(3/2)
acny=-g*nm*cy/(cx*2+cy”2)"(3/2)

'C

CvX = cvx + acnx * dt

cvy = cvy + acny * dt

'C
cx=cx+cvx*dt+0.5*acnx*dt"2
cy=cy+cvy *dt+0.5*acny *dt"2

Pic.FillColor = 0
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Pic.Circle (cx / 1000, cy / 1000), ccc, O
Pic2.Circle (cx / 1000, cy / 1000), ccc, 0
If (cx 2+ cy”2)M(1/2)<=24764 Then
Pic.ForeColor = RGB(255, 255, 255)
Pic.Print " "
Pic2.ForeColor = RGB(255, 255, 255)
Pic2.Print " "
Timer1.Enabled = False
Exit For
End If
Next i

End Sub
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Dim sm, nm, g, r, pi As Double

Dim sx, sy As Double

Dim thita0, thita, dt, ddt, d, n, dismin, dis, tt As Double
Dim a, b, c, t As Double

Dim cx, cy, cvx, cvy, CxX, Cyy, CvxX, cvyy As Double
Dim nv, nx, ny, nvx, nvy, exi, nn As Double

Dim vx, vy, v2x, v2y, XX, yy, di

Private Sub Command7_Click()

ttt = tt

tt = Val(InputBox(" ", 76))
If tt = 0 Then tt = ttt

Label11.Caption=tt &" "

End Sub

Private Sub Command8_Click()

Print "("; % "," yy; ")"
End Sub

Private Sub Command9_Click()

Pic3.Cls

cenx = Val(InputBox(" (X)", , xx))

ceny = Val(InputBox(" )", yy)

di = Val(InputBox(" ", , dismin / 1000))

Pic3.Scale (1 + cenx-di * 15, 1 + ceny + di * 15)-(1 + cenx + di * 15, 1 + ceny - di * 15)
End Sub

Private Sub Option1_Click()
If Option1.Value = True Then Pic.Visible = True: Pic2.Visible = False: Pic3.Visible = False
End Sub

Private Sub Option2_Click()

If Option2.Value = True Then Pic.Visible = False: Pic2.Visible = True: Pic3.Visible = False
End Sub

Private Sub Option3_Click()

If Option3.Value = True Then Pic.Visible = False: Pic2.Visible = False: Pic3.Visible = True
End Sub

Private Sub Command1_Click()

Cls

Pic.Cls

Pic2.Cls

Pic3.Cls

c_data

dt = Val(Text4.Text) !

thitaO = Val(Text1.Text) ! ( )

ddt = Val(Text2.Text) ! ( )

thita = thita0

n_data

exi=0

Timer1.Enabled = True
End Sub
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Private Sub Command2_Click()
Timer1.Enabled = False
End Sub

Private Sub Command3_Click()
Form1.ForeColor = RGB(255, 0, 0)
Print thitaO; "m"; Tab(15); dismin
Form1.ForeColor = RGB(0, 0, 255)
Print Round(((vx - v2x) A 2 + (vy - v2y) * 2) * (1] 2), 5);
Print" "

Form1.ForeColor = RGB(200, 100, 0)
Print (2 * g * nm / dismin) * (1/2)
Form1.ForeColor = RGB(255, 0, 0)
Timer1.Enabled = False

Pic.Cls

Pic2.Cls

Pic3.Cls

c_data

thita = thita0O

nv = 5.45125124684134 'km/s
n_data

exi=0

Timer1.Enabled = True
End Sub

Private Sub Command4_Click()
Timer1.Enabled = True
End Sub

Private Sub Command5_Click()

a = Val(lnputBox("  A(A.U.)..( ), , 17.955))
b = Val(InputBox("  B(A.U.)..( )", , 4.58))

c = Val(nputBox("  C(A.U.)..( ), , 17.35))
t = Val(lnputBox("  ( )..( )", , 76))

a=a* 150000000 'km
b =b* 150000000 'km
¢ =c¢* 150000000 'km

Label5.Caption =" A "&a/150000000 &" A.U."
Label6.Caption =" B "&b/150000000 &" A.U."
Label7.Caption =" C "&c/150000000&" A.U."
Label8.Caption =" "&t&" "

End Sub

Private Sub Command6_Click()
Pic2.Cls
End Sub

Private Sub Form_Load()
Form1.Height = 9000
Form1.Width = 12000
Form1.AutoRedraw = True
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Pic.AutoRedraw = True

Pic.Left = 3360

Pic.Top=0

Pic.Height = 6565.38461538462

Pic.Width = 8535

Pic.BackColor = RGB(233, 233, 233)

Pic.Scale (-8000000, 5000000)-(5000000, -5000000)

Pic.FillColor = RGB(255, 255, 0)
Pic.FillStyle = 0
Pic.Circle (0, 0), 69600 * 2, RGB(255, 255, 0)

Pic.FillColor = RGB(0, 0, 255)
Pic.FillStyle =0
Pic.Circle (4509000, 0), 40000, RGB(0, 0, 255)

Pic.FillColor = RGB(0, 0, 0)
Pic.FillStyle = 0
Pic.Circle (-5295750, 0), 30000, RGB(0, 0, 0)

Pic2.AutoRedraw = True
Pic2.Left = 5280

Pic2.Top =0

Pic2.Height = 6565.38461538462
Pic2.Width = 6565.38461538462

sca = 30000

Pic2.BackColor = RGB(233, 233, 233)
Pic2.Scale (-sca, sca)-(sca, -sca)
Pic2.FillColor = RGB(0, 0, 255)
Pic2.FillStyle = 0

nn = 247.64

Pic2.Circle (0, 0), nn, RGB(0, 0, 255)

Pic3.AutoRedraw = True

Pic3.Left = 5280

Pic3.Top =0

Pic3.Height = 6565.38461538462
Pic3.Width = 6565.38461538462
Pic3.BackColor = RGB(233, 233, 233)

sm = 2E+30

nm = 1.024E+26

g =6.6732E-20
r=30.06 * 150000000
pi = 3.141592

sx=0
sy=0

nx =r* Cos(0 * pi) 'km
ny =r* Sin(0 * pi) 'km



nv = 5.45125124684134 'km/s

' ( )

a = 17.955 * 150000000 'km

b =4.58 * 150000000 'km

¢ =17.35* 150000000 'km

t=76 'year

cx=-(a+c) 'km

cy=0 'km

cvx=0 'km/s

cvy=-2*a*b*pi/(a+c)/t/365.25/86400 'km/s
CXX = CX 'km
cyy = cy 'km
CVXX = CVX 'km/s
cvyy = cvy 'km/s

dismin=r*10

Text4.Text = 864
Text1.Text = 0.1
Text2.Text = 0.1

Label5.Caption =" A "&a/150000000 &" A.U."
Label6.Caption =" B "&b/150000000 &" A.U."
Label7.Caption =" C "&c/150000000&" A.U."
Label8.Caption =" "&t&" "

Label3.Caption = ""

Label11.Caption=76 & " "

tt=76

End Sub

Private Sub Pic2_MouseMove(Button As Integer, Shift As Integer, X As Single, Y As Single)
Label10.Caption = (X*2+Y ~2)*(1/2)* 1000

End Sub

Private Sub Timer1_Timer()

Fori=1 To 1000
exi = exi + dt

'Print

If exi > tt * 365.25 * 86400 Then
Pic.Cls
Form1.ForeColor = RGB(255, 0, 0)
Print thitaO; "m"; Tab(15); dismin
Form1.ForeColor = RGB(0, 0, 255)
Print Round(((vx - v2x) * 2 + (vy - v2y) * 2) ~ (1 / 2), 5);
Print" "
Form1.ForeColor = RGB(200, 100, 0)
Print (2 * g * nm / dismin) * (1/ 2)
Form1.ForeColor = RGB(255, 0, 0)
c_data
exi=0

End If
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'C-N
dis = Sqgr((cx - nx) * 2 + (cy - ny) * 2)

If Sgr((cx - nx) » 2 + (cy - ny) » 2) <= 24764 Then
Print thitaO; "m"
MsgBox " "
c_data
Pic.Cls
exi=0
End If

If Sgr((cx - sx) 2 + (cy - sy) * 2) <= 696000 Then
Print thitaO; "m"
MsgBox " "
c_data
Pic.Cls
exi=0
End If

' C-N
If dis < dismin Then
dismin = dis
VX = CVX
vy = cvy
V2X = nvx
v2y = nvy
xx =nx/ 1000
yy =ny /1000
End If

dis2 = ((cx - xx * 1000) A 2 + (cy - yy * 1000) A 2) A (1/2)
If dis2 < di * 1000 * 40 And Check5.Value = 1 Then
Pic3.FillColor = RGB(0, 0, 255)

Pic3.FillStyle = 0

Pic3.Circle (nx / 1000, ny / 1000), di / 12, RGB(0, 0, 255)

Pic3.FillColor = RGB(255, 0, 0)
Pic3.FillStyle = 0
Pic3.Circle (cx / 1000, cy / 1000), di / 15, RGB(255, 0, 0)

Pic3.FillColor = RGB(0, 0, 0)

Pic3.FillStyle = 0
Pic3.Circle (cxx / 1000, cyy / 1000), di / 15, RGB(0, 0, 0)
End If
s=s+1
If s = 1000 Then
s=0

If Check1.Value = 1 Then Pic.Cls

If Check4.Value = 1 Then Label3.Caption = Sqgr((cx - nx) * 2 + (cy - ny) * 2)
Pic.FillColor = RGB(255, 255, 0)

Pic.FillStyle = 0

Pic.Circle (0, 0), 69600 * 2, RGB(255, 255, 0)

Pic.FillColor = RGB(0, 0, 255)
Pic.FillStyle = 0
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Pic.Circle (nx / 1000, ny / 1000), 40000, RGB(0, 0, 255)

Pic.FillColor = RGB(255, 0, 0)
Pic.FillStyle = 0
Pic.Circle (cx / 1000, cy / 1000), 30000, RGB(255, 0, 0)

Pic.FillColor = RGB(0, 0, 0)

Pic.FillStyle = 0

Pic.Circle (cxx / 1000, cyy / 1000), 30000, RGB(0, 0, 0)
End If

ss=ss+1
If ss =50 Then
ss=0
If Check2.Value = 1 And dis < 40000000 Then
If Check3.Value = 1 Then Pic2.Cls
Pic2.FillColor = RGB(0, 0, 255)
Pic2.FillStyle = 0
Pic2.Circle (0, 0), nn, RGB(0, 0, 255)
Pic2.FillColor = RGB(255, 0, 0)
Pic2.FillStyle = 0
Pic2.Circle (cx / 1000 - nx / 1000, cy / 1000 - ny / 1000), nn * 0.4, RGB(255, 0, 0)
Pic2.FillColor = RGB(0, 0, 0)
Pic2.FillStyle = 0
Pic2.Circle (cxx/ 1000 - nx / 1000, cyy / 1000 - ny / 1000), nn * 0.4, RGB(0, 0, 0)
End If
End If

'N-S
ansx =-g *sm * (nx)/ ((nx) * 2 + (ny) *2)* (3/ 2)
ansy =-g *sm*(ny)/ ((nx)*2+ (ny)*2)*(3/2)

nvx = nvx + ansx * dt

nvy = nvy + ansy * dt

nx=nx+nvx *dt+0.5*ansx*dt* 2
ny=ny+nvy*dt+0.5*ansy *dt* 2

'C-N

acnx =-g *nm * (cx-nx)/ ((cx-nx) A2+ (cy-ny)*2)*(3/2)
acny =-g*nm*(cy-ny)/((cx-nx)*2+ (cy-ny)*2)*(3/2)
'C-S

acsx=-g*sm* (cx-sx)/((cx-sx)*2+(cy-sy)*2)~(3/2)
acsxx =-g *sm * (cxx - sx) / ((cxx-sx)* 2 + (cyy -sy)*2)* (3/2)
acsy =-g *sm *(cy-sy)/((cx-sx)*2+ (cy-sy)*2)"(3/2)
acsyy =-g *sm * (cyy - sy) / ((cxx-sx)* 2 + (cyy -sy)*2)* (3/2)

cvx = cvx + (acnx + acsx) * dt
CVXX = CVXX + acsxx * dt
cvy = cvy + (acny + acsy) * dt
cvyy = cvyy + acsyy * dt

cx=cx+cvx*dt+0.5* (acnx + acsx) * dt * 2
CXX = cxx + cvxx * dt + 0.5 * acsxx * dt * 2
cy =cy +cvy *dt + 0.5 * (acny + acsy) * dt * 2
cyy =cyy +cvyy *dt + 0.5 * acsyy *dt* 2

Next i

28



exit1:

End Sub

Sub c_data()

thita0 = thitaO + ddt

cx=-(a+c)'km

cy=0

cvx=0
cvy=-2*a*b*pi/(a+c)/t/365.25/86400 'km/s

CXX = CX
cyy = cy

CVXX = CVX
cvyy = cvy

'C-N
dismin=r*10

nx = r * Cos(thita0 * pi) 'km
ny = r * Sin(thita0 * pi) 'km
nvx = -nv * Sin(thita0 * pi) 'km/s
nvy = nv * Cos(thita0 * pi) 'km/s
End Sub

Sub n_data()

nx = r * Cos(thita * pi) 'km
ny = r * Sin(thita * pi) 'km
nvx = -nv * Sin(thita * pi) 'km/s
nvy = nv * Cos(thita * pi) 'km/s
End Sub

Private Sub HScroll1_Change()

! 0.2(A.U.)

Pic2.Cls

Label9.Caption = HScroll1.Value & "000"
sca = HScroll1.Value

nn = (247.64 / 20000) * sca

Pic2.Scale (-sca, sca)-(sca, -sca)
Pic2.FillColor = RGB(0, 0, 255)
Pic2.FillStyle = 0

Pic2.Circle (0, 0), nn, RGB(0, 0, 255)
End Sub

Private Sub HScroll1_Scroll()

! 0.2(A.U.)

Pic2.Cls

Label9.Caption = HScroll1.Value & "000"
sca = HScroll1.Value

nn = (247.64 / 20000) * sca
Pic2.Scale (-sca, sca)-(sca, -sca)
Pic2.FillColor = RGB(0, 0, 255)
Pic2.FillStyle = 0

Pic2.Circle (0, 0), nn, RGB(0, 0, 255)
End Sub
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